
书书书

!"#$%&'()*+

　
,

１　　　　
-

（
.

４
-

）

２０１７
!"#$%&'()(*++,

!"#$%&'()*+

/0

：

１
!"#$%&'()*+%&',-

，
./0)*+%123452

．
２

167

，
,89&*7:;<=>7?@AB%1C

，
D&*7EFG

:<HIJKLM2

，
NAGOK%&PQRSTB%UVWXY

，
ZP[$

\%<=]

，
.^HI%_Y`aKbM2%c2

，
N,defKbM2d5

2g%Fh

，
!ijk<=

，
l,c2

．
３

mB&*7nop52g

，
qr#$stuvSFGdw%xy2g

．

1

、
234

（
-

８
./

，
0./

３
1

，
-

２４
1

）

１—５　ＡＢＤＢＢ　　６—８　ＣＡＢ
5

、
674

（
-

８
./

，
0./

３
1

，
-

２４
1

）

９．（１，３）　　　　　１０．ｘ≥－１　　　　　１１．３（ｘ－２）（ｘ＋２）　　　　　１２．2

１３．１２０ １４．１５π １５．２３ １６．１７６５
8

、
9%4

（１７～１９
/0/

６
1

，２０～２３
/0/

８
1

，２４～２５
/0/

１０
1

，２６
/

１２
1

，
-

８２
1

）

１７．
3

：
45

＝２×１２ 槡＋１＋２－１＋（－１） ４
1

（
0678961

）
:::::::::::

槡＝１＋１＋２－１－１ ５
1:::::::::::::::::::::::

槡＝２ ６
1:::::::::::::::::::::::::::::

１８．
3

：
１
ａ－３－

６
ａ２－９

＝ ａ＋３
（ａ－３）（ａ＋３）－

６
（ａ－３）（ａ＋３） ２

1:::::::::::::

＝ ａ＋３－６
（ａ－３）（ａ＋３） ３

1::::::::::::::::::::

＝ ａ－３
（ａ－３）（ａ＋３） ４

1::::::::::::::::::::

＝ １ａ＋３ ５
1:::::::::::::::::::::::::

;

ａ＝１
<

，
45

＝ １ａ＋３＝
１
４ ６

1:::::::::::::::::::::

１９．
=>

：∵∠ＡＢＣ＝∠ＡＣＢ∴ＡＢ＝ＡＣ １
1::::::::::::::::::::

?

Ｄ、Ｅ
1@AB

ＡＢ、ＡＣ
&9

∴ＡＤ＝ＡＥ ２
1:::::::::::::::::

C△ＡＤＣD△ＡＥＢ&

ＡＤ＝ＡＥ
∠Ａ＝∠Ａ
ＡＣ＝

{
ＡＢ

∴△ＡＤＣ≌△ＡＥＢ ４
1:::::::::::::::::::::::::::

∴ＢＥ＝ＣＤ ６
1::::::::::::::::::::::::::::::

20
17

年
郴

州
市

初
中

毕
业

学
业

考
试

试
卷



!"#$%&'()*+

　
,

２　　　　
-

（
.

４
-

）

２０．
3

：（１）５００，１２，３２ ４
1

（２
1

＋１
1

＋１
1

＝４
1

）
:::::::::::::::

（２）
E

６
1::::::::::::::::::::::::::::::::

（３）１０００００×０．３２＝３２０００（
F

） ７
1:::::::::::::::::::::

G

：
H$IJK

３２０００
FL

“
MNOPQRSTU

”
VW

“Ａ．
XYZ3

”
[\]

．
８
1:::::::::::::::::::::::::::::::::::

２１．
3

：（１）̂
/_`a

：
５ｘ＋３（３０－ｘ）≤１３０
４ｘ＋６（３０－ｘ）≤{ １４４

２
1:::::::::::::::::

3a

：
ｘ≤２０
ｘ≥{ １８

∴１８≤ｘ≤２０ ３
1:::::::::::::::::::::::::::::

∵ｘ
bcd3

，∴ｘ＝１８
e

ｘ＝１９
e

ｘ＝２０
∴

fg

Ａ、Ｂ
higj[klKmnoi

：

kl6

：Ａ
gj

１８
p

，Ｂ
gj

１２
p

；

klq

：Ａ
gj

１９
p

，Ｂ
gj

１１
p

；

klo

：Ａ
gj

２０
p

，Ｂ
gj

１０
p

； ５
1::::::::::::::::::::

（２）̂
/_`a

：ｙ＝７００ｘ＋９００（３０－ｘ）＝－２００ｘ＋２７０００
∵－２００＜０，ｙ

r

ｘ
[sItu.

?

∵１８≤ｘ≤２０，∴;

ｘ＝１８
<KvIwx

６
1:::::::::::::::::

vIwx

ｙ＝－２００×１８＋２７０００＝２３４００
y

７
1::::::::::::::::

G

：
wxvI[klz

（１）
&[kl6

，
{

：Ａ
gjfg

１８
p

，Ｂ
gjfg

１２
p

，
vIw

xA

２３４００
y

． ８
1::::::::::::::::::::::::::::

２２．
3

：
|9

Ｐ
}

ＰＨ⊥ＡＣ~�A9

Ｈ １
1:::::::

^/_`7

：∠ＥＡＰ＝６０°，∠ＦＢＰ＝３０°
∴∠ＰＡＢ＝３０°，∠ＰＢＨ＝６０°
∴∠ＡＰＢ＝３０°∴ＡＢ＝ＰＢ＝１２０ ３

1:::::::::

∴
C

Ｒｔ△ＰＢＨ&

∵ｓｉｎ∠ＰＢＨ＝ＰＨＰＢ，∴ＰＨ＝ＰＢ×ｓｉｎ６０°＝１２０×
槡３
２≈１０３．８０ ６

1::::::::::

∵１０３．８０＞１００ ７
1::::::::::::::::::::::::::::

∴
���[�������N�������

。 ８
1::::::::::::::

２３．
3

：（１）
��

ＯＢ，∵ＢＣ
�⊙Ｏ�9

Ｂ，
∴ＯＢ⊥ＢＣ １

1::::::::::::::::::::

∵ＡＤ⊥ＢＣ∴ＡＤ∥ＯＢ，∴∠ＤＡＢ＝∠ＯＢＡ ３
1:::::::

∵ＯＡ＝ＯＢ，∴∠ＯＡＢ＝∠ＯＢＡ∴∠ＤＡＢ＝∠ＯＡＢ ４
1::::

∴ＡＢ
�1∠ＯＡＤ ５

1:::::::::::::::::

（２）
9

Ｅ
C

ＡＥＢ⌒
�

，
�∠ＡＥＢ＝６０°，∴∠ＡＯＢ＝１２０°， ６

1::

∴Ｓ
��

ＯＡＢ＝
１２０°
３６０°×π×ＡＯ

２＝１３×π×３
２＝３π ８

1::::::::::::::::

20
17

年
郴

州
市

初
中

毕
业

学
业

考
试

试
卷



!"#$%&'()*+

　
,

３　　　　
-

（
.

４
-

）

２４．
3

：（１）５，３； ２
1:::::::::::::::::::::::::::::

（２）̂
/_`a

：３ｘ＋１≤－ｘ＋１， ３
1:::::::::::::::::::::

∴ｘ≤０ ４
1::::::::::::::::::::::::::::::::

（２）̂
/_`a

：
ｙ＝－ｘ＋２
ｙ＝ｘ２－２ｘ{ －４

５
1:::::::::::::::::::::

3a

：
ｘ１＝－２

ｙ１{ ＝４
，
ｘ２＝３

ｙ２{ ＝－１
∴

�9��A

（－２，４）
D

（３，－１） ７
1::::::::::::::::::::

}�

ｙ＝－ｘ＋２
[��

８
1:::::::::::::::::::::::::

^� `7

：
;

ｘ＝３
<

，ｍａｘ －ｘ＋２，ｘ２－２ｘ{ }－４
Kv.T

－１． １０
1:::::::

２５．
3

：（１）̂
/_`a

４ａ＋８５×２＋ｃ＝０

ｃ{ ＝－４ ，
3a

ａ＝１５
ｃ{ ＝－４

∴
¡¢£[¤V5A

：ｙ＝１５ｘ
２＋８５ｘ－４． ２

1::::::::::::::::::

（２）
¥

Ｐ（ｍ，１５ｍ
２＋８５ｍ－４），¦Ｆ（ｍ，－

１
２ｍ－４）

∴ＰＦ＝（－１２ｍ－４）－（
１
５ｍ

２＋８５ｍ－４）＝－
１
５ｍ

２－２１１０ｍ，

∵ＰＥ⊥ｘ§，∴ＰＦ∥ＯＣ
∴

;

ＰＦ＝ＯＣ
<

，̈
B�

ＰＣＯＦ
z�©¨B�

．

∴－１５ｍ
２－２１１０ｍ＝４， ３

1::::::::::::::::::::::::::

3a

ｍ１＝－
５
２，ｍ２＝－８．;ｍ１＝－

５
２<，

１
５ｍ

２＋８５ｍ－４＝－
２７
４，

;

ｍ２＝－８<，
１
５ｍ

２＋８５ｍ－４＝－４．

∴Ｐ
9[��A

Ｐ１（－
５
２，－

２７
４），Ｐ２（－８，－４）． ５

1::::::::::::::

（３）①=>

：
L�

ｙ＝－１２ｘ－４，ªｙ＝０，3a

ｘ＝－８，

∴Ｄ（－８，０），∴ＯＤ＝８；
∵ Ａ（２，０）、Ｃ（０，－４），
∴ＡＤ＝２－（－８）＝１０，ＡＣ２＝２２＋４２＝２０，ＤＣ２＝８２＋４２＝８０，

?

ＡＤ２＝１００，
∴ＡＣ２＋ＣＤ２＝ＡＤ２，
∴△ＡＣＤz«¬o¬�

，
�∠ＡＣＤ＝９０°． ６

1:::::::::::::::::

②^①a∠ＡＣＤ＝９０°，­®

ⅰ）;△ＡＣＤ∽△ＣＨＰ<

，
ＡＣ
ＣＤ＝

ＣＨ
ＨＰ，{

槡２５

槡４５
＝
－１５ｎ

２－８５ｎ

－ｎ e

槡２５

槡４５
＝

１
５ｎ

２＋８５ｎ

－ｎ ，

3a

ｎ１＝０（̄ ），ｎ２＝－５．５eｎ３＝０（̄ ），ｎ４＝－１０．５； ８
1:::::::::::

20
17

年
郴

州
市

初
中

毕
业

学
业

考
试

试
卷



!"#$%&'()*+

　
,

４　　　　
-

（
.

４
-

）

ⅱ）;△ＡＣＤ∽△ＰＨＣ<

，

ＡＣ
ＣＤ＝

ＰＨ
ＨＣ，{

槡２５

槡４５
＝ －ｎ

－１５ｎ
２－８５ｎ

e

槡２５

槡４５
＝ －ｎ
１
５ｎ

２＋８５ｎ
，

3a

ｎ５＝０（̄ ），ｎ６＝２eｎ７＝０（̄ ），ｎ８＝－１８；
°±ⅰ）、ⅱ）;Ｐ9²��A

－５．５
e

－１０．５
e

２
e

－１８
<

，
³a®9

Ｐ、Ｃ、Ｈ
A´9

[o¬�µ△ＡＣＤ¶·

． １０
1::::::::::::::::::::::::

２６．
3

：（１）
=>

：∵△ＢＣＥz^△ＡＣＤ¸9

Ｃ
¹<ºk»¼½

６０°
­a

，

∴∠ＤＣＥ＝６０°，ＤＣ＝ＥＣ，
∴△ＣＤＥz¾Bo¬�

． ２
1::::::::::::::::::::::::

（２）
¿C

．
;

６＜ｔ＜１０
<

，̂
¼½`7

，

∴ＢＥ＝ＡＤ，
∴Ｃ△ＤＢＥ＝ＢＥ＋ＤＢ＋ＤＥ＝ＡＢ＋ＤＥ＝４＋ＤＥ，?^

（１）̀
7

，△ＣＤＥz¾Bo¬�

，

４
1

:

:::::::::::::::::::::::::::::::::

∴ＤＥ＝ＣＤ
∴Ｃ△ＤＢＥ＝ＣＤ＋４，̂ ~£ÀvÁ`7

，
;

ＣＤ⊥ＡＢ<

，△ＢＤＥ[ÂÃv.

， ５
1:::

Ä<

ＣＤ 槡＝２３ｃｍ． ６
1:::::::::::::::::::::::::::

∴△ＤＢＥ[v.ÂÃ

Ｃ△ＤＢＥ＝ＣＤ 槡＋４＝２３＋４（ｃｍ）． ７
1::::::::::::

（３）
¿C

．
①∵;9

Ｄ
µ9

Ａ
Å±<

，Ｄ、Ｅ、Ｂ
�ÆÇÈo¬�

；
;9

Ｄ
µ9

Ｂ
Å±<

，
ÉÊ�±/

_

．
∴ｔ≠６ｓ，ｔ≠１０ｓ． ８

1:::::::::::::::::::::::::::

②;

０≤ｔ＜６ｓ<，̂ ¼½`7∠ＡＢＥ＝６０°，∠ＢＤＥ＜６０°，Ët∠ＢＥＤ＝９０°．̂ （１）̀
7

△ＣＤＥz¾Bo¬�

，

∴∠ＤＥＢ＝６０°，∴∠ＣＥＢ＝３０°，
?

∵∠ＣＥＢz∠ＣＤＡC¼½n[�

，

∴∠ＣＤＡ＝３０°，∵∠ＣＡＢ＝６０°∴∠ＡＣＤ＝∠ＡＤＣ＝３０°，
∴ＤＡ＝ＣＡ＝４，∴ＯＤ＝ＯＡ－ＤＡ＝６－４＝２，∴ｔ＝２÷１＝２ｓ．

９
1:::::::::::::::::::::::::::::::::::

③;

６＜ｔ＜１０ｓ
<

，̂ ∠ＤＢＥ＝１２０°＞９０°，
∴

Ä<�¿C

； １０
1::::::::::::::::::::::::::::

④;

ｔ＞１０ｓ
<

，̂
¼½`7∠ＤＢＥ＝６０°，?^

（１）
7∠ＣＤＥ＝６０°，

∴∠ＢＤＥ＝∠ＣＤＥ＋∠ＢＤＣ＝６０°＋∠ＢＤＣ，t∠ＢＤＣ＞０°，
∴∠ＢＤＥ＞６０°，
∴

ÌÆ∠ＢＤＥ＝９０°，Ët∠ＢＣＤ＝３０°，
∴ＢＤ＝ＢＣ＝４，∴ＯＤ＝１４ｃｍ
∴ｔ＝１４÷１＝１４ｓ。 １１

1::::::::::::::::::::::::::

°±①、②、③、④a

，
;

ｔ＝２ｓ
e

ｔ＝１４ｓ
<

，
®

Ｄ、Ｅ、Ｂ
A´9[o¬�z«¬o¬�

．
１２

1:::::::::::::::::::::::::::::::::

（
ÍÎ3ÏÐÑÒ®�Ó1�ÔÕ1

）

20
17

年
郴

州
市

初
中

毕
业

学
业

考
试

试
卷




